
Engine Parts Catalogue
For an unstoppable journey

Cummins  
Genuine  
Guarantee

Strong 
Network 

Faster 
availability 
of parts

Comprehensive  
products and parts 
range

Perfect Fit  
for Cummins  
Gensets



Long Block & Engine Assembly	 1

Engine parts	 13

Gaskets	 16

Running parts	 22

Long Block & Engine Assembly	 28

Engine parts	 13

Gaskets	 16

Running parts	 22

.

Index



Cummins on-highway engine parts

3

Long Block & Engine Assembly

CUMMINS PART NO. AX1006604

OEM REF.

DESCRIPTION LONG BLOCK EURO II 6B-FUEL SYS 125 TO 180 HP 

SEGMENT BSII 

CUMMINS PART NO. AX1012947

OEM REF.

DESCRIPTION LONG BLOCK 6BT INDUSTRIAL 

SEGMENT BSII 

CUMMINS PART NO. AX1013844

OEM REF. 278601990194

DESCRIPTION LONG BLOCK 

SEGMENT BSIII 

CUMMINS PART NO. AX1013369

OEM REF. 278601990117

DESCRIPTION LONG BLOCK, 6BT5.9-180 HPAMW APPLN 

SEGMENT BSII 

CUMMINS PART NO. AX1013393

OEM REF. 278601990128

DESCRIPTION LONG BLOCK, 180 HPAMW BS-III 

SEGMENT BSIII 

CUMMINS PART NO. AX101295

OEM REF.

DESCRIPTION LONG BLOCK, 4BT IND STAGE 2 

SEGMENT BSII 

CUMMINS PART NO. AX1015527

OEM REF. 278601010209

DESCRIPTION ENGINE B5.9 160HP @2500RPM 

SEGMENT BSII 



Cummins on-highway engine parts

4

ENGINE PARTS

CUMMINS PART NO. 3936600

OEM REF. 278601990110

DESCRIPTION CYLINDER BLOCK TC  

SEGMENT COMMON 

CUMMINS PART NO. 5302096

OEM REF. 278601993706

DESCRIPTION BLOCK, CYLINDER 

SEGMENT ISBE 6.7 

CUMMINS PART NO. 5482833

OEM REF. 278603990147

DESCRIPTION CRANK SHAFT TC STD

SEGMENT COMMON 

CUMMINS PART NO. 5301009

OEM REF. 570103990142

DESCRIPTION CRANK SHAFT TC STD

SEGMENT ISBE 6.7 

CUMMINS PART NO. 3283179

OEM REF. 278605999958

DESCRIPTION CAMSHAFT TC BS I & II 

SEGMENT BSII 

CUMMINS PART NO. 4094069

OEM REF. 278605999977

DESCRIPTION CAMSHAFT TC BS III 

SEGMENT BSIII 

CUMMINS PART NO. AX1015526

OEM REF. 278601010398

DESCRIPTION ENGINE B5.9 180HP @2500RPM 

SEGMENT BSIII 



Cummins on-highway engine parts

5

CUMMINS PART NO. 3979506

OEM REF. 570105990104

DESCRIPTION CAMSHAFT TC 

SEGMENT PRIMA 

CUMMINS PART NO. 3927282

OEM REF. 278601990112

DESCRIPTION CYLINDER HEAD ASSY COMPLETE (12 VALVE) 

SEGMENT BSII 

CUMMINS PART NO. 5361587

OEM REF. 278601990302

DESCRIPTION CYLINDER HEAD ASSY COMPLETE (24 VALVE) 

SEGMENT BSIII 

CUMMINS PART NO. 5397436

OEM REF. 570101990150

DESCRIPTION CYLINDER HEAD ASSY COMPLETE (24 VALVE) 

SEGMENT ISBE 

CUMMINS PART NO. 3936612

OEM REF. 278605995901

DESCRIPTION CRANKSHAFT KEY 

SEGMENT COMMON 

CUMMINS PART NO. 3935266

OEM REF. 278601999939

DESCRIPTION CONNECTOR MALE (HEAD) 

SEGMENT BSII 

CUMMINS PART NO. KIT3238129

OEM REF. 885403013516

DESCRIPTION ENGINE OVERHAUL KIT (W/O LINER)

SEGMENT BSII 

CUMMINS PART NO. KIT3238222

OEM REF.

DESCRIPTION Engine Overhaul Kit (w Liner) 

SEGMENT BSII 



Cummins on-highway engine parts

6

CUMMINS PART NO. KIT3238099

OEM REF. 885403013118

DESCRIPTION ENGINE OVERHAUL KIT (W/O LINER)

SEGMENT BSIII 

CUMMINS PART NO. KIT3238224

OEM REF. 885403021618

DESCRIPTION ENGINE OVERHAUL KIT (W/O LINER)

SEGMENT BSIII 

CUMMINS PART NO. KIT5294688

OEM REF. 278605999002

DESCRIPTION ENGINE VALVE SET STD (W LOCK) 

SEGMENT BSII 

CUMMINS PART NO. KIT5303723

OEM REF.

DESCRIPTION ENGINE VALVE SET .003 (W LOCK) 

SEGMENT BSII 

CUMMINS PART NO. KIT3238095

OEM REF.

DESCRIPTION ENGINE VALVE SET .005 (W LOCK) 

SEGMENT BSII 

CUMMINS PART NO. KIT3238221

OEM REF.

DESCRIPTION CLY HEAD OVERHALL KIT STD

SEGMENT BSII

CUMMINS PART NO. KIT5294689

OEM REF. 278605999003

DESCRIPTION ENGINE VALVE SET STD (W LOCK) 

SEGMENT BSIII 

CUMMINS PART NO. KIT5303724

OEM REF.

DESCRIPTION ENGINE VALVE SET .003 (W LOCK) 

SEGMENT BSIII 



Cummins on-highway engine parts

7

CUMMINS PART NO. KIT3238097

OEM REF.

DESCRIPTION ENGINE VALVE SET .005 (W LOCK) 

SEGMENT BSIII 

CUMMINS PART NO. 4093678

OEM REF. 278603999973

DESCRIPTION PISTON WITH PIN TC STD 

SEGMENT BSII 

CUMMINS PART NO. 4093844

OEM REF. 278603999975

DESCRIPTION PISTON WITH PIN TC 020 

SEGMENT BSII 

CUMMINS PART NO. 4093845

OEM REF. 278603999940

DESCRIPTION PISTON WITH PIN TC 040 

SEGMENT BSII 

CUMMINS PART NO. 5292544

OEM REF. 278603990150

DESCRIPTION PISTON WITH PIN STD 

SEGMENT BSIII 

CUMMINS PART NO. 5292545

OEM REF. 278603990151

DESCRIPTION PISTON WITH PIN 020 

SEGMENT BSIII 

CUMMINS PART NO. 5258739

OEM REF. 278603990167

DESCRIPTION PISTON WITH PIN OLD MODEL STD 

SEGMENT BSIII 

CUMMINS PART NO. 5444179

OEM REF. 278603999835

DESCRIPTION PISTON STD 

SEGMENT ISBE 5.9 



Cummins on-highway engine parts

8

CUMMINS PART NO. 5257639

OEM REF. 570103990110

DESCRIPTION PISTON PRIMA 

SEGMENT ISBE 6.7 

CUMMINS PART NO. 5361506

OEM REF.

DESCRIPTION PISTON INDUSTRIAL 

SEGMENT ISBE 6.7 

CUMMINS PART NO. 3802421

OEM REF. 886309000017

DESCRIPTION PISTON RING STD TC 

SEGMENT BSII 

CUMMINS PART NO. 3802422

OEM REF. 278603999978

DESCRIPTION PISTON RING 20 TC 

SEGMENT BSII 

CUMMINS PART NO. 3802423

OEM REF. 278603999979

DESCRIPTION PISTON RING 40 TC 

SEGMENT BSII 

CUMMINS PART NO. 5292547

OEM REF. 278603990153

DESCRIPTION  PISTON RING STD 

SEGMENT BSIII 

CUMMINS PART NO. 5292548

OEM REF. 278603990154

DESCRIPTION PISTON RING 020 

SEGMENT BSIII 

CUMMINS PART NO. 5476713

OEM REF. 278603990244

DESCRIPTION PISTON RING UMB BS4 

SEGMENT ISBE5.9 



Cummins on-highway engine parts

9

CUMMINS PART NO. 5257640

OEM REF. 570103990101

DESCRIPTION PISTON RING TC 107 STD 

SEGMENT ISBE 6.7 

CUMMINS PART NO. 4094029

OEM REF. 278601989929

DESCRIPTION PISTON SLEEVE (102) LINER  

SEGMENT COMMON 

CUMMINS PART NO. 4919951

OEM REF. 570101999926

DESCRIPTION PISTON SLEEVE (107) LINER  

SEGMENT ISBE 6.7 

CUMMINS PART NO. 5303135

OEM REF. 278601999902

DESCRIPTION CAM BUSH TC STD 

SEGMENT COMMON 

CUMMINS PART NO. 4983253

OEM REF. 570101993401

DESCRIPTION CAM BUSH TC STD 

SEGMENT ISBE 6.7 

CUMMINS PART NO. 4891178

OEM REF. 278615999923

DESCRIPTION CON ROD BUSH 

SEGMENT COMMON 

CUMMINS PART NO. KIT3238093

OEM REF. 278603993401

DESCRIPTION C.R. BUSH KIT TC STD 

SEGMENT COMMON 

CUMMINS PART NO. 5335357

OEM REF. 278601999801

DESCRIPTION MAIN BEARING TC STD 

SEGMENT COMMON 



Cummins on-highway engine parts

10

CUMMINS PART NO. 4080708

OEM REF. 278601999802

DESCRIPTION MAIN BEARING TC 010 

SEGMENT COMMON 

CUMMINS PART NO. 3802072

OEM REF. 278603990106

DESCRIPTION MAIN BEARING TC 020 

SEGMENT COMMON 

CUMMINS PART NO. 3802073

OEM REF. 278603990107

DESCRIPTION MAIN BEARING TC 030 

SEGMENT COMMON 

CUMMINS PART NO. 3802074

OEM REF. 278603990108

DESCRIPTION MAIN BEARING TC 040 

SEGMENT COMMON 

CUMMINS PART NO. 4955521

OEM REF. 570103990109

DESCRIPTION MAIN BEARING TC STD 

SEGMENT ISBE 6.7 

CUMMINS PART NO. 4080702

OEM REF. 278603999980

DESCRIPTION CONN. ROD BEARING TC STD 

SEGMENT BSII 

CUMMINS PART NO. 4080703

OEM REF. 278613999904

DESCRIPTION CONN. ROD BEARING TC 010 

SEGMENT BSII 

CUMMINS PART NO. 4080704

OEM REF. 278613999903

DESCRIPTION CONN. ROD BEARING TC 020 

SEGMENT BSII 



Cummins on-highway engine parts

11

CUMMINS PART NO. 4080705

OEM REF. 278613999902

DESCRIPTION  CONN. ROD BEARING TC 030 

SEGMENT BSII 

CUMMINS PART NO. 4080706

OEM REF. 278613999901

DESCRIPTION CONN. ROD BEARING TC 040 

SEGMENT BSII 

CUMMINS PART NO. 5313639

OEM REF. 278603990176

DESCRIPTION CONN. ROD BEARING TC BS III STD 

SEGMENT BS III 

CUMMINS PART NO. 5316383

OEM REF. 278603990182

DESCRIPTION CONN. ROD BEARING TC BS III 010 

SEGMENT BS III 

CUMMINS PART NO. 4943979

OEM REF. 278603990175

DESCRIPTION CONN. ROD ASSY TC BS III 

SEGMENT BSIII 

CUMMINS PART NO. 3929027

OEM REF. 278603999905

DESCRIPTION CRANK GEAR TC 

SEGMENT COMMON 

CUMMINS PART NO. 3929028

OEM REF. 278605999910

DESCRIPTION CAM GEAR TC 

SEGMENT COMMON 

CUMMINS PART NO. 3284377

OEM REF. 278605999926

DESCRIPTION PUSH ROD 

SEGMENT BSII 



Cummins on-highway engine parts

12

CUMMINS PART NO. 3941253

OEM REF. 278605999979

DESCRIPTION PUSH ROD 

SEGMENT BSIII 

CUMMINS PART NO. 3931623

OEM REF. 278605999913

DESCRIPTION TAPPIT VALVE 

SEGMENT BSII 

CUMMINS PART NO. 3942565

OEM REF. 278605999978

DESCRIPTION TAPPIT VALVE 

SEGMENT BSIII 

CUMMINS PART NO. 3947759

OEM REF. 570105999906

DESCRIPTION TAPPIT VALVE 

SEGMENT ISBE 6.7 

CUMMINS PART NO. 3927155

OEM REF. 278605999912

DESCRIPTION CAMSHAFT THRUST SUPPORT (CAM SHAFT LOCK) 

SEGMENT COMMON 

CUMMINS PART NO. 5313863

OEM REF. 278605999820

DESCRIPTION CAMSHAFT THRUST SUPPORT (CAM SHAFT LOCK) 

SEGMENT ISBE 6.7 

CUMMINS PART NO. 4988952

OEM REF. 278603997702

DESCRIPTION M.B OILSEAL 

SEGMENT COMMON 

CUMMINS PART NO. 3926126

OEM REF. 278603999908

DESCRIPTION REAR SEAL, WEAR SLEEVE KIT 

SEGMENT COMMON 



Cummins on-highway engine parts

13

CUMMINS PART NO. 5527066

OEM REF. 278618997704

DESCRIPTION TIMING OIL SEAL (4359961) 

SEGMENT COMMON 

CUMMINS PART NO. 5338295, 4890832

OEM REF. 278618997707

DESCRIPTION SEAL OIL 

SEGMENT ISBE 

CUMMINS PART NO. 3957912

OEM REF. 278605999959

DESCRIPTION VALVE OIL SEAL (SET OF 12 PS) 

SEGMENT BS II 

CUMMINS PART NO. 3955393

OEM REF. 278605999974

DESCRIPTION VALVE OIL SEAL (SET OF 24 PS) 

SEGMENT BS III 

CUMMINS PART NO. 3900250

OEM REF. 278601999925

DESCRIPTION VALVE LOCK TC (24 Nos) 

SEGMENT BSII 

CUMMINS PART NO. 3940123

OEM REF. 278605999970

DESCRIPTION VALVE LOCK TCBSIII (48 Nos) 

SEGMENT BSIII 

CUMMINS PART NO. 3934920

OEM REF. 278605999955

DESCRIPTION ROCKER ASSY TC BS II 

SEGMENT BSII 

CUMMINS PART NO. 4995602

OEM REF. 278605990109

DESCRIPTION ROCKER ASSY TC BS III 

SEGMENT BSIII 



Cummins on-highway engine parts

14

CUMMINS PART NO. 4928699

OEM REF. 570105997901

DESCRIPTION ROCKER LEVER (SHAFT) 

SEGMENT BSIII 

CUMMINS PART NO. 3910810

OEM REF. 278605999921

DESCRIPTION ROCKER LEVER (BIG) 

SEGMENT BSII 

CUMMINS PART NO. 3910811

OEM REF. 278605999918

DESCRIPTION ROCKER LEVER (SMALL) 

SEGMENT BSII 

CUMMINS PART NO. 3911423

OEM REF.

DESCRIPTION ROCKER LIVER SUPPORT

SEGMENT BSII 

CUMMINS PART NO. 3916691

OEM REF. 278601999912

DESCRIPTION VALVE SPRING TC BIG 

SEGMENT BSII 

CUMMINS PART NO. 3926700

OEM REF. 278601999921

DESCRIPTION VALVE SPRING TC SMALL 

SEGMENT BSII 

CUMMINS PART NO. 4936080

OEM REF. 278605998701

DESCRIPTION VALVE SPRING TC BS III 

SEGMENT BSIII 

CUMMINS PART NO. 3957913

OEM REF. 278605999960

DESCRIPTION RETAINER VALVE SPRING (VALVE CAP) 

SEGMENT BSII



Cummins on-highway engine parts

15

CUMMINS PART NO. 3904483

OEM REF. 278603999906

DESCRIPTION DOWEL PIN (CRANK SHAFT KEY) 

SEGMENT COMMON 

CUMMINS PART NO. 3900068

OEM REF. 278601999914

DESCRIPTION HEAD DOWEL RING (BIG HOLE) 

SEGMENT COMMON 

CUMMINS PART NO. 3900257

OEM REF. 278601999911

DESCRIPTION GEAR DOWEL PIN (TIMING) 

SEGMENT COMMON 

CUMMINS PART NO. 3935449

OEM REF. 278601989903

DESCRIPTION ISOLATOR NOISE TC (6 NOS SET) 

SEGMENT BSII 

CUMMINS PART NO. 5271613

OEM REF. 570105999918

DESCRIPTION ISOLATOR NOISE TC BS III 

SEGMENT BSIII 

GASKETS

CUMMINS PART NO. 3931904

OEM REF. 278601999973

DESCRIPTION SEALANT LIQUID GASKET (PASTE) 

SEGMENT COMMON 

CUMMINS PART NO. 3283570

OEM REF. 886309000015

DESCRIPTION HEAD GASKET TC 

SEGMENT BSII 



Cummins on-highway engine parts

16

CUMMINS PART NO. 5303363

OEM REF. 278601995304

DESCRIPTION HEAD GASKET TC BS III 

SEGMENT BSIII 

CUMMINS PART NO. 5304132

OEM REF. 278601995306

DESCRIPTION HEAD GASKET TC BS IV 

SEGMENT ISBE 5.9 

CUMMINS PART NO. 4932210

OEM REF. 570101995302

DESCRIPTION HEAD GASKET TC 

SEGMENT ISBE 6.7 

CUMMINS PART NO. 3936562

OEM REF. 278620999933

DESCRIPTION UPPER ENGINE GASKET TC 

SEGMENT BSII 

CUMMINS PART NO. 3936563

OEM REF. 278601999993

DESCRIPTION LOWER ENGINE GASKET TC 

SEGMENT BSII 

CUMMINS PART NO. 4093904

OEM REF. 278605999963

DESCRIPTION FULL SET GASKET TC WITHOUT OILSEAL & STEM SEAL 

SEGMENT BSII 

CUMMINS PART NO. 5258736

OEM REF. 278601990197

DESCRIPTION UPPER ENGINE GASKET TC BS III 

SEGMENT BSIII 

CUMMINS PART NO. 5258737

OEM REF. 278601990198

DESCRIPTION LOWER ENGINE GASKET TC BS III 

SEGMENT BSIII 



Cummins on-highway engine parts

17

CUMMINS PART NO. 5257635

OEM REF. 570101990111

DESCRIPTION UPPER ENGINE GASKET TC 

SEGMENT PRIMA 

CUMMINS PART NO. 5257636

OEM REF. 570101990112

DESCRIPTION LOWER ENGINE GASKET TC 

SEGMENT PRIMA 

CUMMINS PART NO. 3930906

OEM REF. 278605999928

DESCRIPTION TAPPIT COVER GASKET TC (6 PCS SET) 

SEGMENT BSII 

CUMMINS PART NO. 3935878

OEM REF. 278601989918

DESCRIPTION TAPPIT GASKET TC BS III SINGLE PACKING 

SEGMENT BSIII 

CUMMINS PART NO. 3901356

OEM REF. 278614999902

DESCRIPTION GASKET TURBO CHARGER 

SEGMENT COMMON 

CUMMINS PART NO. 3905443

OEM REF. 278614999915

DESCRIPTION MANIFOLD GASKET (6 PCS SET) 

SEGMENT BSII 

CUMMINS PART NO. 3929881

OEM REF. 278614995304

DESCRIPTION MANIFOLD GASKET 

SEGMENT ISBE 5.9 

CUMMINS PART NO. 5288690

OEM REF. 278614995301

DESCRIPTION MANIFOLD GASKET TC BS III (SINGLE PACKING) 

SEGMENT BSIII 



Cummins on-highway engine parts

18

CUMMINS PART NO. 3914386

OEM REF. 278603999921

DESCRIPTION MAIN BEARING PLATE GASKET 

SEGMENT COMMON 

CUMMINS PART NO. 3282113

OEM REF. 278614999903

DESCRIPTION TURBO GASKET 

SEGMENT COMMON 

CUMMINS PART NO. 3928832

OEM REF. 278605999901

DESCRIPTION SIDE COVER GASKET/PUSH ROD COVER GASKET 

SEGMENT COMMON 

CUMMINS PART NO. 3938152

OEM REF. 278601989912

DESCRIPTION MANI FOLD INTAKE GASKET (14 HOLE GASKET) 

SEGMENT COMMON 

CUMMINS PART NO. 3914385

OEM REF. 278607989921

DESCRIPTION TIMING PLATE GASKET EURO II N/M (3914385) 

SEGMENT BSIII 

CUMMINS PART NO. 3918673

OEM REF. 278607999926

DESCRIPTION TIMING PLATE GASKET O/M (EURO-I) 

SEGMENT BSII 

CUMMINS PART NO. 3916131

OEM REF. 278607999918

DESCRIPTION TIMING HOUSING GASKET”Y”PACKING 

SEGMENT COMMON 

CUMMINS PART NO. 3918256

OEM REF. 278618999910

DESCRIPTION COOLER PLATE GASKET INNER 

SEGMENT COMMON 



Cummins on-highway engine parts

19

CUMMINS PART NO. 3929792

OEM REF. 278618999906

DESCRIPTION COOLER PLATE GASKET OUTER 

SEGMENT COMMON 

CUMMINS PART NO. 3912558

OEM REF. 278620999922

DESCRIPTION GASKET, CONNECTION (TURBO CHARGER GASKET) 

SEGMENT BSII 

CUMMINS PART NO. 3913352

OEM REF. 278620999941

DESCRIPTION ALLUM. SIDE COVER ADAPTER GASKET/BOOSTER 

SEGMENT COMMON 

CUMMINS PART NO. 3939258

OEM REF. 220014105302

DESCRIPTION GASKET, COVER PLATE 

SEGMENT COMMON 

CUMMINS PART NO. 3283767

OEM REF. 278605995306

DESCRIPTION SIDE COVER GASKET/PUSH ROD COVER GASKET 

SEGMENT 4BT 

CUMMINS PART NO. 5367848

OEM REF. 278615995304

DESCRIPTION GASKET, INTEGRATED WIRING 

SEGMENT ISBE 



Cummins on-highway engine parts

20

RUNNING PARTS

CUMMINS PART NO. 3937404

OEM REF. 278618999933

DESCRIPTION OIL PUMP ASSY 

SEGMENT COMMON 

CUMMINS PART NO. 5291050

OEM REF. 278618990129

DESCRIPTION PUMP LUBRICATING OIL 

SEGMENT ISBE 

CUMMINS PART NO. 4939585

OEM REF.

DESCRIPTION PUMP LUBRICATING OIL 

SEGMENT 4BT 

CUMMINS PART NO. GY

OEM REF. 278620999959

DESCRIPTION WATER PUMP ASSY TC 

SEGMENT BS II 

CUMMINS PART NO. 4094034

OEM REF. 886320000002

DESCRIPTION WATER PUMP ASSY TC BS III 

SEGMENT BSIII 

CUMMINS PART NO. 5444109

OEM REF. 278620990220

DESCRIPTION WATER PUMP ASSY TC 

SEGMENT ISBE 

CUMMINS PART NO. 3922900

OEM REF. 278615999902

DESCRIPTION TENSIONER BELT ASSY. TC 

SEGMENT COMMON 



Cummins on-highway engine parts

21

CUMMINS PART NO. 5621847

OEM REF. 570120999907

DESCRIPTION TENSIONER BELT ASSY.TC 

SEGMENT BSIV 

CUMMINS PART NO. 3943591

OEM REF. 207615999902

DESCRIPTION FAN PULLEY 1:2 RATIO 

SEGMENT COMMON 

CUMMINS PART NO. 3935363

OEM REF. 278620999935

DESCRIPTION FAN PULLY TC (CASTEN) 

SEGMENT COMMON 

CUMMINS PART NO. 3936668

OEM REF. 278620999931

DESCRIPTION SPACER FAN PILOT (WATER PUMP HUB) 45MM 

SEGMENT COMMON 

CUMMINS PART NO. 3936581

OEM REF. 278620999926

DESCRIPTION SPACER FAN PILOT (WATER PUMP HUB) 

SEGMENT BSIII 

CUMMINS PART NO. 5263160

OEM REF. 278620999825

DESCRIPTION FAN SUPPORT TC BS II/BS III 

SEGMENT COMMON 

CUMMINS PART NO. 4981215

OEM REF. 292013110397 

DESCRIPTION FAN SUPPORT TC BS II/BS III 

SEGMENT AMW 

CUMMINS PART NO. 5259157

OEM REF. 278603990126

DESCRIPTION BELT, V RIBBED 

SEGMENT 8PK1422 



Cummins on-highway engine parts

22

CUMMINS PART NO. 2868267

OEM REF. 278620999962

DESCRIPTION BELT, V RIBBED 

SEGMENT 8PK1363 

CUMMINS PART NO. 3289831

OEM REF. 570120996301

DESCRIPTION BELT, V RIBBED 

SEGMENT 8PK2401 

CUMMINS PART NO. 5446149

OEM REF. 278620999841

DESCRIPTION BELT, V RIBBED 

SEGMENT 8PK1596 

CUMMINS PART NO. 5311903

OEM REF. 278620996303

DESCRIPTION BELT, V RIBBED 

SEGMENT 8PK2108 

CUMMINS PART NO. 3289124

OEM REF. 286320996302

DESCRIPTION BELT, V RIBBED 

SEGMENT 8PK1700 

CUMMINS PART NO. 5301923

OEM REF. 570120996307

DESCRIPTION BELT, V RIBBED 

SEGMENT 8PK1993 

CUMMINS PART NO. 5258156

OEM REF. 278620996305

DESCRIPTION BELT, V RIBBED 

SEGMENT 8PK1632 

CUMMINS PART NO. 3289034

OEM REF. 570120996305

DESCRIPTION BELT, V RIBBED 

SEGMENT 8PK1638 



Cummins on-highway engine parts

23

CUMMINS PART NO. 3972375

OEM REF. 278620990201

DESCRIPTION BELT, V RIBBED 

SEGMENT 8PK2124 

CUMMINS PART NO. 3901895

OEM REF. 278607999984

DESCRIPTION CAP FILLER (TAPPIT CAP) 

SEGMENT BSII 

CUMMINS PART NO. 5271331

OEM REF. 278601990196

DESCRIPTION CAP, FILLER 

SEGMENT BSIII 

CUMMINS PART NO. 3903463

OEM REF. 278601999917

DESCRIPTION TIMING COVER BLK CAP 

SEGMENT COMMON 

CUMMINS PART NO. 3928404

OEM REF. 278605999927

DESCRIPTION TAPPIT COVER PLAIN (VALVE CUP) 

SEGMENT BSII 

CUMMINS PART NO. 3928405

OEM REF. 278605999932

DESCRIPTION TAPPIT COVER PLAIN (2 Hole)-(VALVE CUP) 

SEGMENT BSII 

CUMMINS PART NO. 5332814

OEM REF. 278605994720

DESCRIPTION TAPPIT COVER TC BS III (VALVE COVER) 

SEGMENT BS III 

CUMMINS PART NO. 4947829

OEM REF. 278603999936

DESCRIPTION DUMPER PULLY TC BS II 

SEGMENT BSII 



Cummins on-highway engine parts

24

CUMMINS PART NO. 3918999

OEM REF. 278603999947

DESCRIPTION DUMPER PULLY TC BS III 

SEGMENT BSIII 

CUMMINS PART NO. 5267980

OEM REF. 278603990161

DESCRIPTION DUMPER PULLY TC (AMW) 

SEGMENT ISBE 

CUMMINS PART NO. 5269122

OEM REF. 278614993704

DESCRIPTION MANIFOLD, EXHAUST 

SEGMENT BSIII 

CUMMINS PART NO. 5444155

OEM REF. 278614993715

DESCRIPTION MANIFOLD, EXHAUST 

SEGMENT ISBE5.9 

CUMMINS PART NO. 3979211

OEM REF. 278614993703

DESCRIPTION MANIFOLD, EXHAUST 

SEGMENT BSIII 

CUMMINS PART NO. 3910881

OEM REF. 278614999917

DESCRIPTION MANIFOLD, EXHAUST 

SEGMENT BSII CNG 

CUMMINS PART NO. 3917700

OEM REF. 278614999932

DESCRIPTION MANIFOLD, EXHAUST 

SEGMENT BSII 

CUMMINS PART NO. 5444156

OEM REF. 278614993716

DESCRIPTION MANIFOLD, EXHAUST 

SEGMENT BSIV 



Cummins on-highway engine parts

25

CUMMINS PART NO. 3931744

OEM REF. 278614993707

DESCRIPTION MANIFOLD, EXHAUST 

SEGMENT ISBE 

CUMMINS PART NO. 3905771

OEM REF.

DESCRIPTION COVER, INTAKE MANIFOLD (PLATE 14 HOLE) 

SEGMENT COMMON 

CUMMINS PART NO. 3908086

OEM REF. 278601999978

DESCRIPTION COVER INTAKE MANIFOLD (NORMAL) 

SEGMENT BSII 

CUMMINS PART NO. 3945252

OEM REF. 278614999965

DESCRIPTION SPACER MOUNTING (MANIFOLD) 

SEGMENT BSIII 

CUMMINS PART NO. 4932713

OEM REF. 278607995401

DESCRIPTION GEAR, FUEL PUMP 

SEGMENT COMMON 

CUMMINS PART NO. 3955153

OEM REF. 278607995403

DESCRIPTION GEAR, FUEL PUMP 

SEGMENT BSIII 

CUMMINS PART NO. 3903924

OEM REF. 278603999931

DESCRIPTION TIMING PIN  

SEGMENT COMMON 

CUMMINS PART NO. 3913994

OEM REF. 278603999930

DESCRIPTION TIMING PIN O RING 

SEGMENT COMMON 



Cummins on-highway engine parts

26

CUMMINS PART NO. 3919683

OEM REF. 278603999933

DESCRIPTION HOUSING TIMING PIN (HOUSING PIN PLATE) 

SEGMENT COMMON 

CUMMINS PART NO. 3943626

OEM REF. 278605999980

DESCRIPTION CROSSHEAD, VALVE 

SEGMENT BSIII 

CUMMINS PART NO. 3940639

OEM REF. 278601989922

DESCRIPTION INJECTOR CLAMP 

SEGMENT BSIII 

CUMMINS PART NO. 4988748

OEM REF. 278609999808

DESCRIPTION PUMP TRANSFER FUEL CUMMINS 

SEGMENT COMMON 

CUMMINS PART NO. 3925955

OEM REF. 278609999903

DESCRIPTION ADAPTER, FILTER HEAD 

SEGMENT COMMON 

CUMMINS PART NO. 3942453

OEM REF. 278607989958

DESCRIPTION ADAPTER, FILTER HEAD 

SEGMENT BSIII 

CUMMINS PART NO. 3936665

OEM REF. 278607989908

DESCRIPTION TEE MALE UNION 

SEGMENT BSII 

CUMMINS PART NO. 4946178

OEM REF. 278603999918

DESCRIPTION MAIN BEARING PLATE 

SEGMENT COMMON 



Cummins on-highway engine parts

27

CUMMINS PART NO. 5483031

OEM REF. 278609999963

DESCRIPTION D FILTER HEAD (17 NO WHOLE) 

SEGMENT BSIII 

CUMMINS PART NO. 3931892

OEM REF. 278609999908

DESCRIPTION D FILTER HEAD (19 NO WHOLE) 

SEGMENT BSII 

CUMMINS PART NO. 4989116

OEM REF. 278607990106

DESCRIPTION D FILTER HEAD (DOUBLE FILTER) 

SEGMENT COMMON 

CUMMINS PART NO. 3918954

OEM REF. 278618999903

DESCRIPTION MOBIL FILTER PLATE 

SEGMENT COMMON 

CUMMINS PART NO. 3936365

OEM REF. 278618999949

DESCRIPTION OIL PUMP VALVE SPRING 

SEGMENT COMMON 

CUMMINS PART NO. 3918428

OEM REF. 278618999909

DESCRIPTION PLUNGER PRESS 

SEGMENT COMMON 

CUMMINS PART NO. 3925009

OEM REF. 278618999902

DESCRIPTION SPRING COLUMN 

SEGMENT COMMON 

CUMMINS PART NO. 3921558

OEM REF. 278618999905

DESCRIPTION OIL COOLER ASSY 

SEGMENT COMMON 



Cummins on-highway engine parts

28

CUMMINS PART NO. 3975818

OEM REF. 570118990106

DESCRIPTION OIL COOLER ASSY 

SEGMENT ISBE 

CUMMINS PART NO. 4983059

OEM REF. 278601990200

DESCRIPTION BREATHER WITH PIPE 

SEGMENT COMMON 

CUMMINS PART NO. 3966164

OEM REF. 570101990116

DESCRIPTION BREATHER CONNCTOR 

SEGMENT COMMON 

CUMMINS PART NO. 5290517

OEM REF. 278601989934

DESCRIPTION BREATHER HEAD 

SEGMENT COMMON 

CUMMINS PART NO. 3927913

OEM REF. 278605999902

DESCRIPTION PUSH ROD COVER (SIDE COVER PLATE) 

SEGMENT COMMON 

CUMMINS PART NO. 3936578

OEM REF. 278605999903

DESCRIPTION PUSH ROD COVER (SIDE COVER PLATE) 

SEGMENT BSIII 

CUMMINS PART NO. 3923896 3918675

OEM REF. 278601989902 278601999994

DESCRIPTION COVER, GEAR TIMING HOUSING PLATE (758) 

SEGMENT BSIII 

CUMMINS PART NO. 3903794

OEM REF. 278605999964

DESCRIPTION COVER, GEAR TIMING HOUSING PLATE 

SEGMENT COMMON 



Cummins on-highway engine parts

29

CUMMINS PART NO. 3923898

OEM REF. 278601999995

DESCRIPTION COVER, GEAR TIMING HOUSING PLATE 

SEGMENT COMMON 

CUMMINS PART NO. 3935583

OEM REF. 278609999993

DESCRIPTION COVER, GEAR TIMING HOUSING PLATE 

SEGMENT ISBE 

CUMMINS PART NO. 3920758

OEM REF. 278605990108

DESCRIPTION TIMING HOUSING EURO-II (3 WHOLE) (896 COVER) 

SEGMENT COMMON 

CUMMINS PART NO. 5264738

OEM REF. 278605999817

DESCRIPTION TIMING HOUSING EURO-I O/M (4 WHOLE) 

SEGMENT COMMON 

CUMMINS PART NO. 4936423

OEM REF. 570105990107

DESCRIPTION TIMING HOUSING TC BS IV 

SEGMENT BSIV 

CUMMINS PART NO. 4080631

OEM REF. 278620999925

DESCRIPTION THARMOSTAT TC BS II 

SEGMENT BSII 

CUMMINS PART NO. 5345973

OEM REF. 278620999828

DESCRIPTION THERMOSTAT TC BS III 

SEGMENT BSIII 

CUMMINS PART NO. 4093816

OEM REF. 278620999803

DESCRIPTION HOUSING, THERMOSTAT 

SEGMENT BSII 



Cummins on-highway engine parts

30

CUMMINS PART NO. 3923331

OEM REF. 278620995301

DESCRIPTION THERMOSTATA HOUSING COVER 

SEGMENT COMMON 

CUMMINS PART NO. 3935338

OEM REF. 278614999931

DESCRIPTION TURBO CLAMP BIG 

SEGMENT COMMON 

CUMMINS PART NO. 3935339

OEM REF. 278614999942

DESCRIPTION TURBO CLAMP SMALL 

SEGMENT COMMON 

CUMMINS PART NO. 3285098

OEM REF. 278620999946

DESCRIPTION TENSIONER BELT BRACKET 

SEGMENT COMMON 

CUMMINS PART NO. 3925207

OEM REF. 278615993303

DESCRIPTION TENSIONER BELT BRACKET (TENSIONER PLATE) 

SEGMENT COMMON 

CUMMINS PART NO. 3905313

OEM REF. 278607989903

DESCRIPTION BRACE, FUEL PUMP 

SEGMENT COMMON 

CUMMINS PART NO. 3936646

OEM REF. 278607999810

DESCRIPTION BRACE, FUEL PUMP 

SEGMENT COMMON 

CUMMINS PART NO. 3936647

OEM REF. 278607999811

DESCRIPTION BRACE, FUEL PUMP 

SEGMENT COMMON 



Cummins on-highway engine parts

31

CUMMINS PART NO. 4892239

OEM REF. 570103994701

DESCRIPTION PLATE, COVER 

SEGMENT BSIII 

CUMMINS PART NO. 3927167

OEM REF. 278618999927

DESCRIPTION PLATE, CYL BLOCK STIFFENER 

SEGMENT COMMON 

CUMMINS PART NO. 3936599

OEM REF. 278618999935

DESCRIPTION OIL SUMP OR PAN 

SEGMENT BSIII 

CUMMINS PART NO. 5400011

OEM REF. 278618999995

DESCRIPTION OIL SUMP OR PAN 

SEGMENT BSIV 

CUMMINS PART NO. 4898036

OEM REF. 278601998202

DESCRIPTION OIL SUMP OR PAN 

SEGMENT ISBE 

CUMMINS PART NO. 4938655

OEM REF.

DESCRIPTION ADAPTER, OIL PAN 

SEGMENT ISBE 

SEAL O RINGS

CUMMINS PART NO. 3906698

OEM REF. 570120997701

DESCRIPTION WATER PUMP O RING 

SEGMENT COMMON 



Cummins on-highway engine parts

32

CUMMINS PART NO. 3929457

OEM REF. 278618999908

DESCRIPTION LUB OIL FILTER HEAD O RING 

SEGMENT COMMON 

CUMMINS PART NO. 3903475

OEM REF. 278601999918

DESCRIPTION TIMING COVER BLK CAP O RING 

SEGMENT COMMON 

CUMMINS PART NO. 3969698

OEM REF. 220022109903

DESCRIPTION FUEL PUMP SEAL O RING 

SEGMENT COMMON 

CUMMINS PART NO. 3915772

OEM REF. 278603999928

DESCRIPTION TIMING PIN HOUSING O RING 

SEGMENT COMMON 

CUMMINS PART NO. 3909356

OEM REF. 278607999913

DESCRIPTION SEAL RECTANGULAR RING (INJECTOR WASHER) 

SEGMENT BSII 

CUMMINS PART NO. 3912473

OEM REF. 278603999920

DESCRIPTION MB PLATE OIL SEAL O RING 

SEGMENT COMMON 

CUMMINS PART NO. 3906659

OEM REF. 278609999933

DESCRIPTION SEAL INJECTOR 

SEGMENT BSII 



Cummins on-highway engine parts

33

CUMMINS PART NO. 4093786

OEM REF. 278601999807

DESCRIPTION TUBE OIL GAUGE 53”(4093790) 

SEGMENT COMMON 

CUMMINS PART NO. 4093790

OEM REF. 278601999809

DESCRIPTION DIPSTICK 57”(4093786) 

SEGMENT COMMON 

CUMMINS PART NO. 4094047

OEM REF. 278618996901

DESCRIPTION TUBE OIL GAUGE 48”(4094048) 

SEGMENT COMMON 

CUMMINS PART NO. 4094048

OEM REF. 278618999982

DESCRIPTION DIPSTICK 53”(4094047) 

SEGMENT COMMON 

CUMMINS PART NO. 4093784

OEM REF. 278601999805

DESCRIPTION TUBE OIL GAUGE 42”(4093791) 

SEGMENT BSII 

CUMMINS PART NO. 4093791

OEM REF. 278601999810

DESCRIPTION DIPSTICK 47”(4093784) 

SEGMENT BSII 

CUMMINS PART NO. 3931883

OEM REF. 278601999951

DESCRIPTION TUBE OIL GAUGE 53”

SEGMENT BSII 

DIPSTICK & TUBE OIL GAUGE



Cummins on-highway engine parts

34

CUMMINS PART NO. 4093785

OEM REF. 278601999806

DESCRIPTION TUBE OIL GAUGE 38”(4093789) 

SEGMENT COMMON 

CUMMINS PART NO. 4093789

OEM REF. 278601999808

DESCRIPTION DIPSTICK 43”(4093785) 

SEGMENT COMMON 

CUMMINS PART NO. 4093787

OEM REF.

DESCRIPTION TUBE OIL GAUGE 24”(4093792) 

SEGMENT 4BT 

CUMMINS PART NO. 4093792

OEM REF.

DESCRIPTION DIPSTICK 28”(4093787) 

SEGMENT 4BT 

CUMMINS PART NO. 4080672

OEM REF.

DESCRIPTION TUBE OIL GAUGE 3”

SEGMENT 4BT 

CUMMINS PART NO. 4080673

OEM REF.

DESCRIPTION DIPSTICK 9”

SEGMENT 4BT 

CUMMINS PART NO. 5285649

OEM REF. 278601990143

DESCRIPTION DIPSTICK 57”

SEGMENT ISBE 5.9 

CUMMINS PART NO. 5481297

OEM REF.

DESCRIPTION DIPSTICK 58”

SEGMENT BSIV 



Cummins on-highway engine parts

35

CUMMINS PART NO. 5445623

OEM REF. 278601999735

DESCRIPTION  DIPSTICK 59”

SEGMENT BSIV 

CUMMINS PART NO. 5263199

OEM REF. 570101999924

DESCRIPTION  OIL GAUGE + DIPSTICK 57”

SEGMENT BSIII 

CUMMINS PART NO. 3976999

OEM REF. 570118990110

DESCRIPTION  OIL GAUGE + DIPSTICK 49”

SEGMENT ISBE 

CUMMINS PART NO. KIT3238082

OEM REF.

DESCRIPTION BLOCK DUMMY KIT 

SEGMENT COMMON 

CUMMINS PART NO. V

OEM REF. 278601989936

DESCRIPTION WATER DUMMY (3812090)-5 

SEGMENT COMMON 

CUMMINS PART NO. 3900956

OEM REF. 278601999907

DESCRIPTION OIL DUMMY-3 

SEGMENT COMMON 

CUMMINS PART NO. 3900958

OEM REF. 278605999937

DESCRIPTION CAM DUMMY (SIDE DUMMY)-1 

SEGMENT COMMON 

DUMMY



Cummins on-highway engine parts

36

CUMMINS PART NO. V

OEM REF. 278601999910

DESCRIPTION CAM DUMMY (DUST DUMMY)-1 

SEGMENT COMMON 

CUMMINS PART NO. 3007635

OEM REF. 278601999906

DESCRIPTION BLOCK DUMMY-4 

SEGMENT COMMON 

CUMMINS PART NO. 3900955

OEM REF. 278601999915

DESCRIPTION BLOCK DUMMY-2 

SEGMENT COMMON 

CUMMINS PART NO. 3007632

OEM REF. 570101999901

DESCRIPTION BLOCK DUMMY-1 

SEGMENT BSIII 

CUMMINS PART NO. 5263672

OEM REF. 278618999944

DESCRIPTION HEAD DUMMY-11 

SEGMENT BSIII 

 HOSE & PIPES 

CUMMINS PART NO. 3162001

OEM REF. 278609999913

DESCRIPTION MANIFOLD FUEL (FUEL RETURN PIPE) 

SEGMENT BSII 

CUMMINS PART NO. 3991513

OEM REF. 278609996903

DESCRIPTION TUBE AIR FUEL CONTROL (PUMP-HEAD 2SIDE SCREW) 

SEGMENT BSII 



Cummins on-highway engine parts

37

CUMMINS PART NO. 4990700

OEM REF. T06560000304
DESCRIPTION TUBE AIR FUEL CONTROL (2 SIDE BENJO) 

SEGMENT BSIII 

CUMMINS PART NO. 3936670

OEM REF. 278609999946

DESCRIPTION TUBE, AIR FILTER CONTROL (1 SIDE BENJO -1 SIDE NUT) 

SEGMENT BSII 

CUMMINS PART NO. 3928425

OEM REF. 278607999939

DESCRIPTION TUBE FUEL SUPPLY (DISEL PIPE SMALL) 

SEGMENT BSII 

CUMMINS PART NO. 3935321

OEM REF. 278609999924

DESCRIPTION TUBE FUEL SUPPLY (PUMP-GLASSI PIPE SING) 

SEGMENT BSII 

CUMMINS PART NO. 4983351

OEM REF. 278607996905

DESCRIPTION TUBE FUEL SUPPLY (PUMP-INJECTOR) 

SEGMENT BSIII 

CUMMINS PART NO. 5267723

OEM REF. 278607996904

DESCRIPTION TUBE, FUEL SUPPLY 

SEGMENT BSIII 

CUMMINS PART NO. 4093859

OEM REF. 278607996917

DESCRIPTION TUBE FUEL DRAIN 

SEGMENT BSII 

CUMMINS PART NO. 3935350

OEM REF. 278607999969

DESCRIPTION TUBE FUEL SUPPLY (DISEL PIPE BIG) 

SEGMENT BSII 



Cummins on-highway engine parts

38

CUMMINS PART NO. 4080693

OEM REF. 278607989923

DESCRIPTION TUBE FUEL SUPPLY 

SEGMENT BSII 

CUMMINS PART NO. 4093856

OEM REF. 278614995811

DESCRIPTION HOSE FLEXIBLE (AIR COMPR FLEXABLE PIPE) 

SEGMENT COMMON 

CUMMINS PART NO. 3909548

OEM REF.

DESCRIPTION HOSE, FLEXIBLE 

SEGMENT COMMON 

CUMMINS PART NO. 4093806

OEM REF. 278621999907

DESCRIPTION HOSE FLEXIBLE (1 SIDE BANJO-1 SIDE NUT) 

SEGMENT COMMON 

CUMMINS PART NO. 3281504

OEM REF. 278614999923

DESCRIPTION TURBO-HOSE FLEXIBLE-SHORT (FLEXABLE PIPE TWIST TYPE) 

SEGMENT COMMON 

CUMMINS PART NO. 3919591

OEM REF. 278620999929

DESCRIPTION TURBO HOSE FLEXIBLE-MEDIUM (FLEXABLE PIPE TWIST TYPE) 

SEGMENT COMMON 

CUMMINS PART NO. 3920603

OEM REF. 278618999946

DESCRIPTION TURBO-HOSE FLEXIBLE-LONG (FLEXABLE PIPE TWIST TYPE) 

SEGMENT COMMON 

CUMMINS PART NO. 5263842

OEM REF. 570114995801

DESCRIPTION HOSE FINGER (TURBO STRAIGHT HOSE) 

SEGMENT COMMON 



Cummins on-highway engine parts

39

CUMMINS PART NO. 3936630

OEM REF. 278601999997

DESCRIPTION HOSE PLAIN (MANIFOLD TURBO) 

SEGMENT BSII 

CUMMINS PART NO. 3936631

OEM REF. 278601999947

DESCRIPTION HOSE PLAIN (TURBO HOSE) 

SEGMENT COMMON 

CUMMINS PART NO. 3915489

OEM REF. 278614999934

DESCRIPTION BREATHER PLAIN (HOSE 1/2”) 

SEGMENT BSII 

CUMMINS PART NO. 3918614

OEM REF. 278605999906

DESCRIPTION BREATHER PLAIN (HOSE 1 FEET) 

SEGMENT COMMON 

CUMMINS PART NO. 4094050

OEM REF. 278618995803

DESCRIPTION BREATHER HOSE PLAI (L TYPE BIG) 

SEGMENT BSIII 

CUMMINS PART NO. 3281248

OEM REF. 278614999921

DESCRIPTION CONNECTION TUR OIL DRAIN 

SEGMENT BSII 

CUMMINS PART NO. 3281249

OEM REF. 278614999922

DESCRIPTION CONNECTION, TUR OIL DRAIN 

SEGMENT BSII 

CUMMINS PART NO. 3918583

OEM REF. 278618999947

DESCRIPTION CONNECTION TUR OIL DRAIN 

SEGMENT BSII 



Cummins on-highway engine parts

40

CUMMINS PART NO. 4080774

OEM REF. 278618996904

DESCRIPTION TUBE BRATHER PIPE (OIL BREATHER STEEL TYPE) 

SEGMENT COMMON 

NOZZLE PIPE

CUMMINS PART NO. 3937214

OEM REF. 278618999934

DESCRIPTION NOZZLE, PISTON COOLING 

SEGMENT COMMON 

CUMMINS PART NO. 4937308

OEM REF. 570103999907

DESCRIPTION NOZZLE, PISTON COOLING 

SEGMENT ISBE 

CUMMINS PART NO. 3931842

OEM REF. 278607999946

DESCRIPTION NOZZLE PIPE SET INLINE 123 

SEGMENT BSII 

CUMMINS PART NO. 3931843

OEM REF. 278607999947

DESCRIPTION NOZZLE PIPE SET INLINE 456 

SEGMENT BSII 

CUMMINS PART NO. 3282745

OEM REF. 278607989901

DESCRIPTION NOZZLE PIPE SET ROTARY 123 

SEGMENT BSII 

CUMMINS PART NO. 3282746

OEM REF. 278607989902

DESCRIPTION NOZZLE PIPE SET ROTARY 456 

SEGMENT BSII 



Cummins on-highway engine parts

41

CUMMINS PART NO. 5345368

OEM REF. 278601989924

DESCRIPTION NOZZLE PIPE SET 123 

SEGMENT BSIII 

CUMMINS PART NO. 5345369

OEM REF. 278601989925

DESCRIPTION NOZZLE PIPE SET 456 

SEGMENT BSIII 

CUMMINS PART NO. 5400000

OEM REF.

DESCRIPTION CONNECTION, EXHAUST OUTLET 

SEGMENT BSIII 

CUMMINS PART NO. 4939408

OEM REF. 570114999901

DESCRIPTION CONNECTION, EXHAUST OUTLET 

SEGMENT ISBE 

CUMMINS PART NO. 5297752

OEM REF. 278609993702

DESCRIPTION CONNECTION AIR INTAKE 

SEGMENT COMMON 

CUMMINS PART NO. 3975583

OEM REF. 278609999804

DESCRIPTION CONNECTION AIR INTAKE 

SEGMENT BSII 

CUMMINS PART NO. 4094103

OEM REF. 278609990120

DESCRIPTION CONNECTION AIR INTAKE 

SEGMENT BSII 

AIR & WATER TRANSFER 



Cummins on-highway engine parts

42

CUMMINS PART NO. 3924990

OEM REF. 278601999956

DESCRIPTION CONNECTION AIR INTAKE 

SEGMENT BSII 

CUMMINS PART NO. 4093948

OEM REF. 278609993701

DESCRIPTION CONNECTION AIR INTAKE 

SEGMENT BSIII ISBE 

CUMMINS PART NO. 3918685

OEM REF. 278601999969

DESCRIPTION PIPE AIR TRANSFER (TUB BD W/T PG HOLE) 

SEGMENT COMMON 

CUMMINS PART NO. 4094043

OEM REF. 278609990118

DESCRIPTION PIPE AIR TRANSFER 

SEGMENT BSII 

CUMMINS PART NO. 4933777

OEM REF. 570109996902

DESCRIPTION PIPE AIR TRANSFER 

SEGMENT BSIII 

CUMMINS PART NO. 5336251

OEM REF. 278609996906

DESCRIPTION PIPE AIR TRANSFER 

SEGMENT ISBE 

CUMMINS PART NO. 4991821

OEM REF. 570109996901

DESCRIPTION PIPE AIR TRANSFER 

SEGMENT ISBE 

CUMMINS PART NO. 3923178

OEM REF. 278601999957

DESCRIPTION PIPE AIR TRANSFER 

SEGMENT ISBE 



Cummins on-highway engine parts

43

CUMMINS PART NO. 4991396

OEM REF. 278620999986

DESCRIPTION CONNECTION WATER INLET 

SEGMENT BSII 

CUMMINS PART NO. 3354866

OEM REF. 278620999984

DESCRIPTION CONNECTION WATER INLET 

SEGMENT BSIII 

CUMMINS PART NO. 5307631

OEM REF. 278620999808

DESCRIPTION CONNECTION WATER INLET 

SEGMENT ISBE 

CUMMINS PART NO. 5291177

OEM REF. 278620999999

DESCRIPTION CONNECTION WATER INLET 

SEGMENT ISBE 

CUMMINS PART NO. 5260167

OEM REF. 570120999901

DESCRIPTION CONNECTION WATER INLET 

SEGMENT ISBE 

CUMMINS PART NO. 3934878

OEM REF.

DESCRIPTION CONNECTION WATER INLET 

SEGMENT 4BT 

CUMMINS PART NO. 4080780

OEM REF. 278620999948

DESCRIPTION CONNECTION WATER OUTLET 

SEGMENT BSII 

CUMMINS PART NO. 4080781

OEM REF. 278620999998

DESCRIPTION CONNECTION WATER OUTLET 

SEGMENT BSII 



Cummins on-highway engine parts

44

CUMMINS PART NO. 5272656

OEM REF. 278620990150

DESCRIPTION CONNECTION WATER OUTLET 

SEGMENT BSIII 

CUMMINS PART NO. 5447418

OEM REF.

DESCRIPTION CONNECTION WATER OUTLET 

SEGMENT ISBE 

CLUTCH & FAN & ASSY

CUMMINS PART NO. 5301420

OEM REF. 278620999996

DESCRIPTION CLUTCH, FAN 180 HP 

SEGMENT BSIII 

CUMMINS PART NO. 5272005

OEM REF.

DESCRIPTION CLUTCH, FAN 

SEGMENT BSII 

CUMMINS PART NO. 4994706

OEM REF. 278620999993

DESCRIPTION CLUTCH, FAN 230 HP 

SEGMENT BSII 

CUMMINS PART NO. 5525350

OEM REF.

DESCRIPTION CLUTCH, FAN 230 HP 

SEGMENT BSIII 

CUMMINS PART NO. 5475924

OEM REF. 278620999838

DESCRIPTION CLUTCH, FAN 180 HP 

SEGMENT BSIV 



Cummins on-highway engine parts

45

CUMMINS PART NO. 4080728

OEM REF. 278620999955

DESCRIPTION FAN 180 HP 10 BLADE 22”(VISCO) 

SEGMENT BSII 

CUMMINS PART NO. 3935332

OEM REF. 278620999939

DESCRIPTION FAN 130 HP 10 BLADE 20”

SEGMENT BSII 

CUMMINS PART NO. 4994705

OEM REF. 278620999992

DESCRIPTION FAN 230 HP 9 BLADE 24”(VISCO) 

SEGMENT BSII 

CUMMINS PART NO. 4080727

OEM REF. 278620999954

DESCRIPTION FAN 130 HP 10 BLADE 22”

SEGMENT COMMON 

CUMMINS PART NO. 4080729

OEM REF. 278620999956

DESCRIPTION FAN 130 HP 10 BLADE 20”(VISCO) 

SEGMENT COMMON 

CUMMINS PART NO. 4093687

OEM REF. 278620999964

DESCRIPTION FAN 130 HP 7 BLADE 22”

SEGMENT BSIII 

CUMMINS PART NO. 5272004

OEM REF. 278620999976

DESCRIPTION FAN 180 HP 7 BLADE 22”(VISCO) 

SEGMENT BSIII 

CUMMINS PART NO. 5475923

OEM REF. 278620999837

DESCRIPTION FAN 180 HP 9 BLADE 24”(VISCO) 

SEGMENT BSIV 



Cummins on-highway engine parts

46

CUMMINS PART NO. 4094028

OEM REF. 278620999981

DESCRIPTION ASSY 230HP 9 BLADE 24”

SEGMENT BSII 

CUMMINS PART NO. 5272003

OEM REF. 278620990111

DESCRIPTION ASSY 180HP 7 BLADE 22”RING TYPE 

SEGMENT BSIII 

CUMMINS PART NO. 4947063

OEM REF. 278620999982

DESCRIPTION ASSY 180HP 10 BLADE 22”

SEGMENT BSIII 

CUMMINS PART NO. 5270419

OEM REF. 278620999983

DESCRIPTION ASSY 230HP 9 BLADE 24”RING TYPE 

SEGMENT BSIII 

CUMMINS PART NO. 5475921

OEM REF. 278620990195

DESCRIPTION ASSY 180HP 9 BLADE 24”RING TYPE 

SEGMENT BSIV 

CUMMINS PART NO. 5441127

OEM REF. 570120999910

DESCRIPTION ASSY 230HP 11 BLADE 26”RING TYPE 

SEGMENT BSIV 

CUMMINS PART NO. 5312976

OEM REF. 570120990133

DESCRIPTION ASSY 230HP 8 BLADE 26”RING TYPE 

SEGMENT BSIV 

CUMMINS PART NO. 4369154

OEM REF. 570120990134

DESCRIPTION ASSY 250HP 11 BLADE 26”RING TYPE 

SEGMENT ISBE 6.7 



Cummins on-highway engine parts

47

CUMMINS PART NO. 4094038

OEM REF.

DESCRIPTION ASSY 230 HP 10 BLADE 26”

SEGMENT CNG 

CUMMINS PART NO. 5478451

OEM REF.

DESCRIPTION  ASSY 230HP 11 BLADE 26”RING TYPE 

SEGMENT  CNG 

CUMMINS PART NO. AX1015453

OEM REF.

DESCRIPTION DIAPHRAGM COVER ASSEMBLY 

SEGMENT 395

CUMMINS PART NO. AX1015454

OEM REF.

DESCRIPTION ORGANIC ROUND PLATE 

SEGMENT 395

CUMMINS PART NO. AX1014498

OEM REF.

DESCRIPTION DIAPHRAGM COVER ASSY (GB750) 

SEGMENT 380

CUMMINS PART NO. AX1014825

OEM REF.

DESCRIPTION ORGANIC ROUND PLATE (GB750) 

SEGMENT 380

CUMMINS PART NO. AX1014826

OEM REF.

DESCRIPTION CERAMIC FAN TYPE PLATE-1.5  (GB750) 

SEGMENT 380

CLUTCHS & FLYWHEEL



Cummins on-highway engine parts

48

CUMMINS PART NO. AX1014737

OEM REF.

DESCRIPTION 3' LEG CLUTCH COVER ASSY (GB750) 

SEGMENT 380

CUMMINS PART NO. AX1014734

OEM REF.

DESCRIPTION CERAMIC FAN TYPE PLATE-1.75  (GB750) 

SEGMENT 380

CUMMINS PART NO. AX1014773

OEM REF.

DESCRIPTION LEVER KIT 

SEGMENT 380

CUMMINS PART NO. AX1014774

OEM REF.

DESCRIPTION SPRING KIT 

SEGMENT 380

CUMMINS PART NO. AX1014774

OEM REF.

DESCRIPTION KUTTY FACING KIT-THIN

SEGMENT 380

CUMMINS PART NO. AX1014735

OEM REF.

DESCRIPTION 3' LEG CLUTCH COVER ASSY-PULL TYPE (GB60) 

SEGMENT 352

CUMMINS PART NO. AX1014736

OEM REF.

DESCRIPTION CERAMIC FAN TYPE PLATE-1.75  (GB60) 

SEGMENT 352

CUMMINS PART NO. AX1014769

OEM REF.

DESCRIPTION LEVER KIT 

SEGMENT 352



Cummins on-highway engine parts

49

CUMMINS PART NO. AX1014770

OEM REF.

DESCRIPTION SPRING KIT 

SEGMENT 352

CUMMINS PART NO. AX1015028

OEM REF.

DESCRIPTION
3' LEG CLUTCH COVER ASSY 9H CERAMIC PUSH TYPE 
(GB40) 

SEGMENT 330

CUMMINS PART NO. AX1015029

OEM REF.

DESCRIPTION
3' LEG CLUTCH COVER ASSY 9H ORGANIC PUSH TYPE 
(GB40) 

SEGMENT 330

CUMMINS PART NO. AX1015031

OEM REF.

DESCRIPTION
4' LEG CLUTCH COVER ASSY 12H CERAMIC PUSH TYPE 
(GB40) 

SEGMENT 330

CUMMINS PART NO. AX1015032

OEM REF.

DESCRIPTION ORGANIC ROUND PLATE (GB40) 

SEGMENT 330

CUMMINS PART NO. AX1015182

OEM REF.

DESCRIPTION CERAMIC FAN TYPE PLATE (GB40) 

SEGMENT 330

CUMMINS PART NO. AX1015444

OEM REF.

DESCRIPTION 3 LEG LEVER KIT 

SEGMENT 330



Cummins on-highway engine parts

50

CUMMINS PART NO. AX1015448

OEM REF.

DESCRIPTION 4 LEG LEVER KIT 

SEGMENT 330

CUMMINS PART NO. AX1015446

OEM REF.

DESCRIPTION 3 LEG SPRING KIT 

SEGMENT 330

CUMMINS PART NO. AX1015452

OEM REF.

DESCRIPTION 4 LEG SPRING KIT 

SEGMENT 330

CUMMINS PART NO. 4093887

OEM REF. 278603999989

DESCRIPTION FLYWHEEL RING-127 TEETH (ALLEN KEY) 

SEGMENT CNG 

CUMMINS PART NO. 3905427

OEM REF.

DESCRIPTION FLYWHEEL RING-127 TEETH 

SEGMENT 4BT 

CUMMINS PART NO. 5293220

OEM REF. 278603999828
DESCRIPTION FLYWHEEL RING-138 TEETH (ALLEN KEY) 

SEGMENT BSII 

CUMMINS PART NO. 3908546

OEM REF. 278607989928
DESCRIPTION FLYWHEEL RING-138 TEETH 

SEGMENT COMMON 

CUMMINS PART NO. 4929827

OEM REF. 278603999827
DESCRIPTION FLYWHEEL RING-149 TEETH 

SEGMENT ISBE 



Cummins on-highway engine parts

51

CUMMINS PART NO. 4080741

OEM REF. 278603999990
DESCRIPTION FLYWHEEL RING-159 TEETH (ALLEN KEY) 

SEGMENT COMMON 

CUMMINS PART NO. 4080743

OEM REF. 278603999942
DESCRIPTION FLYWHEEL RING-159 TEETH  (THIN) 

SEGMENT COMMON 

CUMMINS PART NO. 3978313

OEM REF.

DESCRIPTION FLYWHEEL RING-159 TEETH  (THIK) 

SEGMENT INDUS 

CUMMINS PART NO. 4080746

OEM REF. 278603999969

DESCRIPTION FLYWHEEL RING-173 TEETH 

SEGMENT COMMON 

CUMMINS PART NO. 5293222

OEM REF. 278603990196

DESCRIPTION FLYWHEEL ASSY-138 TEETH (ALLEN KEY) 

SEGMENT COMMON 

CUMMINS PART NO. 5311924

OEM REF. 278603999825
DESCRIPTION FLYWHEEL ASSY-138 TEETH 

SEGMENT COMMON 

CUMMINS PART NO. 5258729

OEM REF. 278603990173
DESCRIPTION FLYWHEEL ASSY-138 TEETH 

SEGMENT COMMON 

CUMMINS PART NO. 4995138

OEM REF. 278603990136
DESCRIPTION FLYWHEEL ASSY-138 TEETH 

SEGMENT COMMON 



Cummins on-highway engine parts

52

CUMMINS PART NO. 4080744

OEM REF. 278603999970
DESCRIPTION FLYWHEEL ASSY-159 TEETH (ALLEN KEY) 

SEGMENT COMMON 

CUMMINS PART NO. 3936575

OEM REF. 278603999983
DESCRIPTION FLYWHEEL ASSY-173 TEETH 

SEGMENT COMMON 

CUMMINS PART NO. 5274612

OEM REF. 286303990111
DESCRIPTION FLYWHEEL ASSY-138 TEETH (215HP) 

SEGMENT BSIII 

CUMMINS PART NO. 4093655

OEM REF. 278603990233

DESCRIPTION FLYWHEEL ASSY-159 TEETH (ALLEN KEY) 

SEGMENT COMMON 

CUMMINS PART NO. 4093889

OEM REF. 278607989925

DESCRIPTION FLYWHEEL ASSY-127 TEETH (ALLEN KEY) 

SEGMENT COMMON 

CUMMINS PART NO. 2868398

OEM REF.

DESCRIPTION FLYWHEEL ASSY-127 TEETH 

SEGMENT INDUS 

CUMMINS PART NO. 3814262

OEM REF.

DESCRIPTION FLYWHEEL ASSY-159 TEETH 

SEGMENT INDUS 

CUMMINS PART NO. 3971969

OEM REF.

DESCRIPTION FLYWHEEL ASSY-195 TEETH 

SEGMENT INDUS 



Cummins on-highway engine parts

53

CUMMINS PART NO. 4981723

OEM REF. 570103990136
DESCRIPTION FLYWHEEL ASSY-149 TEETH 

SEGMENT ISBE 5.9 

CUMMINS PART NO. 4080800

OEM REF. 278603999972
DESCRIPTION FLYWHEEL HOUSING 

SEGMENT COMMON 

CUMMINS PART NO. 3936661

OEM REF. 278603999961
DESCRIPTION FLYWHEEL HOUSING-235HP 

SEGMENT COMMON 

CUMMINS PART NO. 5271139

OEM REF. 278603993707

DESCRIPTION FLYWHEEL HOUSING 

SEGMENT COMMON 

CUMMINS PART NO. 3971926

OEM REF. 570103990124

DESCRIPTION FLYWHEEL HOUSING 

SEGMENT ISBE 5.9 

CUMMINS PART NO. 2831370

OEM REF. 278603993704
DESCRIPTION FLYWHEEL HOUSING 

SEGMENT ISBE 6.7 

CUMMINS PART NO. 5264674

OEM REF.

DESCRIPTION FLYWHEEL HOUSING 

SEGMENT INDUS 

CUMMINS PART NO. 4963085

OEM REF.

DESCRIPTION FLYWHEEL HOUSING 

SEGMENT INDUS 



Cummins on-highway engine parts

54

BOLTS

CUMMINS PART NO. 3920779

OEM REF. 278601999929

DESCRIPTION HEAD BOLT SMALL (M12 X 1.75 X 70) 

SEGMENT BSII 

CUMMINS PART NO. 3920780

OEM REF. 278601999930

DESCRIPTION HEAD BOLT BIG (M12 X 1.75 X 120) 

SEGMENT BSII 

CUMMINS PART NO. 3927063

OEM REF. 278605999975

DESCRIPTION HEAD BOLT  (M12 X 1.25-6g X 130) 

SEGMENT BSIII 

CUMMINS PART NO. 3916518

OEM REF. 278615999937

DESCRIPTION MANIFOLD BOLT BIG (M10 X 1.5 X 125) 

SEGMENT COMMON 

CUMMINS PART NO. 3901448

OEM REF. 278620999904

DESCRIPTION MANIFOLD BOLT MED (M10 X 1.5 X 65) 

SEGMENT COMMON 

CUMMINS PART NO. 3901446

OEM REF. 278607999986

DESCRIPTION MANIFOLD BOLT SMALL (M8 X 1.25 X 60) 

SEGMENT BSIII 

CUMMINS PART NO. 3920346

OEM REF. 278614999918

DESCRIPTION MANIFOLD BOLT (M10 X 1.5 X 70) 

SEGMENT BSII 



Cummins on-highway engine parts

55

CUMMINS PART NO. 3900919

OEM REF. 278603999901

DESCRIPTION CONNECTING ROD BOLT (M11 X 1.25 X 59) 

SEGMENT BSII 

CUMMINS PART NO. 4891179

OEM REF. 278603998002

DESCRIPTION CONNECTING ROD BOLT  (M11 X 1.25 X 55) 

SEGMENT BSIII 

CUMMINS PART NO. 5286931

OEM REF. 278601998002

DESCRIPTION SUMP BOLT (M8 X 1.25 X 20) 

SEGMENT COMMON 

CUMMINS PART NO. 3900631

OEM REF. 278613998002

DESCRIPTION SUMP BOLT NEW MODEL (M8 X 1.25 X 25) .5 

SEGMENT COMMON 

CUMMINS PART NO. 3903112

OEM REF. 278614999914

DESCRIPTION ALTERNATOR/FAN BOLT (M10 X 1.5 X 30) 

SEGMENT BSIII 

CUMMINS PART NO. 5284131

OEM REF. 278613998004

DESCRIPTION BANJO CONNECTOR (M10 X 1.00 X 13.5) 

SEGMENT COMMON 

CUMMINS PART NO. 3914407

OEM REF. 278615998001

DESCRIPTION ALTERNATOR BOLT (M10 X 1.5 X 100) 

SEGMENT BSII 

CUMMINS PART NO. 3903834

OEM REF. 278605999936

DESCRIPTION STARTING MOTOR BOLT (M10 X 1.5 X 35) 

SEGMENT COMMON 



Cummins on-highway engine parts

56

CUMMINS PART NO. 3900634

OEM REF. 278605999939

DESCRIPTION MULTIPURPOSE (FAN) BOLT (M10 X 1.5 X 50) 

SEGMENT BSIII 

CUMMINS PART NO. 3904446

OEM REF. 207615999901

DESCRIPTION BELT TENSIONER BOLT (M10 X 1.5 X 70) 

SEGMENT COMMON 

CUMMINS PART NO. 3901757

OEM REF. 278620999920

DESCRIPTION WATER INLET/BT BOLT (M10 X 1.5 X 75) 

SEGMENT ISBE 

CUMMINS PART NO. 3089316

OEM REF. 570103998004

DESCRIPTION MANIFOLD BOLT (M10 X 1.5 X 140) 

SEGMENT ISBE 

CUMMINS PART NO. 3903990

OEM REF. 278607999912

DESCRIPTION OIL PUMP BOLT (M10 X 1.5 X 20) 

SEGMENT COMMON 

CUMMINS PART NO. 3902460

OEM REF. 220001143702

DESCRIPTION MANIFOLD RELATED BOLT (M10 X 1.5 X 25) 

SEGMENT COMMON 

CUMMINS PART NO. 3903464

OEM REF. 220001143703

DESCRIPTION MANIFOLD RELATED BOLT (M10 X 1.5 X 40) 

SEGMENT COMMON 

CUMMINS PART NO. 3944593

OEM REF. 278614999963

DESCRIPTION MANIFOLD (SPACER MOUNTING) (M10 X 1.5 X 65) 

SEGMENT BSIII 



Cummins on-highway engine parts

57

CUMMINS PART NO. 3908226

OEM REF. 278620999945

DESCRIPTION BOLT (M10 X 1.5-6g X 95) 

SEGMENT COMMON 

CUMMINS PART NO. 3918153

OEM REF. 570105998003

DESCRIPTION MANIFOLD RELATED BOLT (M10 X 1.5 X 50) 

SEGMENT BSIII 

CUMMINS PART NO. 3900679

OEM REF. 570120998003

DESCRIPTION MANIFOLD RELATED BOLT (M10 X 1.5 X 80) 

SEGMENT ISBE 

CUMMINS PART NO. 3924584

OEM REF. 278603999937

DESCRIPTION VIBRATION DAPMPER BOLT  (M12 X 1.25 X 36) 

SEGMENT COMMON 

CUMMINS PART NO. 3901249

OEM REF. 278618999917

DESCRIPTION CYLINDER BLOCK LIFTING BOLT  (M12 X 1.75 X 25) 

SEGMENT COMMON 

CUMMINS PART NO. 3920447

OEM REF. 278603999922

DESCRIPTION CLUTCH HOUSING BOLT (M12 X 1.75 X 40) 

SEGMENT COMMON 

CUMMINS PART NO. 3935271

OEM REF. 278609999929

DESCRIPTION BOLT (M12 X 1.25-6g X 15) 

SEGMENT COMMON 

CUMMINS PART NO. 3920781

OEM REF. 278605999925

DESCRIPTION ROCKER LEVER SUPPORT BIG BOLT (M12 X 1.25-6g X 180) 

SEGMENT BSII 



Cummins on-highway engine parts

58

CUMMINS PART NO. 5297582

OEM REF. 286301998013

DESCRIPTION DAMPER PULLY (W WASHER) BOLT (M12 X 1.25 X 36) 

SEGMENT COMMON 

CUMMINS PART NO. 3910495

OEM REF. 278620999913

DESCRIPTION CYLINDER BLOCK LIFTING BOLT (M12 X 1.75 X 30) 

SEGMENT COMMON 

CUMMINS PART NO. 3902451

OEM REF. 278607999981

DESCRIPTION FLYWEEL HOUSING RELATED BOLT (M12 X 1.75 X 90) 

SEGMENT ISBE 

CUMMINS PART NO. 3089188

OEM REF. 570103998003

DESCRIPTION FLYWEEL HOUSING RELATED BOLT (M12 X 1.75 X 110) 

SEGMENT ISBE 

CUMMINS PART NO. 3913372

OEM REF. 286314998001

DESCRIPTION BOLT (M12 X 1.75 X 20) 

SEGMENT BSIII 

CUMMINS PART NO. 3914177

OEM REF. 570103998002

DESCRIPTION FLYWEEL HOUSING RELATED BOLT (M12 X 1.75 X 80) 

SEGMENT BSIII 

CUMMINS PART NO. 3904217

OEM REF. 278601999903

DESCRIPTION MAIN BEARING BOLT (M14 X 2 X 119) 

SEGMENT COMMON 

CUMMINS PART NO. 3907998

OEM REF. 278607999954

DESCRIPTION TIMG PIN HSG SCREW (M5 X 0.8 X 17) 

SEGMENT COMMON 



Cummins on-highway engine parts

59

CUMMINS PART NO. 3913638

OEM REF. 278607999915

DESCRIPTION TIMINGALLU GEAR COVER BOLT (M6 X 1 X 16) 

SEGMENT COMMON 

CUMMINS PART NO. 3901865

OEM REF. 278607999960

DESCRIPTION WATER OUTLET CONN BOLT (M6 X 1 X 20) 

SEGMENT BSIII 

CUMMINS PART NO. 3940817

OEM REF. 278601989923

DESCRIPTION INJECTOR CLAMP BOLT (M6 X 1.6g X 22) 

SEGMENT BSIII 

CUMMINS PART NO. 3902023

OEM REF. 278601989916

DESCRIPTION INJECTOR CLAMP BOLT (M6 X 1 X 25) 

SEGMENT BSIII 

CUMMINS PART NO. 3900625

OEM REF. 286315998003

DESCRIPTION HEAD RELATED BOLT (M6 X 1 X 10) 

SEGMENT ISBE 

CUMMINS PART NO. 3924724

OEM REF. 278607989905

DESCRIPTION BANJO CONNECTOR 3936670 (M8 X 1 X 17) 

SEGMENT COMMON 

CUMMINS PART NO. 3900225

OEM REF. 278603998001

DESCRIPTION TAPPET/PUSH ROD DOOR BOLT (M8 X 1.25 X 16) 

SEGMENT COMMON 

CUMMINS PART NO. 3907049

OEM REF. 278605999929

DESCRIPTION TAPIT COVER BOLT (M8 X 1.25 X 21) 

SEGMENT BSII 



Cummins on-highway engine parts

60

CUMMINS PART NO. 3900227

OEM REF. 278605999911

DESCRIPTION CAM THRUST LOCK BOLT  (M8 X 1.25 X 22) 

SEGMENT COMMON 

CUMMINS PART NO. 3900677

OEM REF. 278618999913

DESCRIPTION OIL PUMP/ALTERNATOR BOLT (M8 X 1.25 X 30) 

SEGMENT COMMON 

CUMMINS PART NO. 3928873

OEM REF. 278607998006

DESCRIPTION TIMING CASE BOLT SMALL  (M8 X 1.25 X 40) 

SEGMENT BSIII 

CUMMINS PART NO. 3901221

OEM REF. 278605999924

DESCRIPTION ROCKER LEVER SUPPORT SMALL BOLT (M8 X 1.25 X 75) 

SEGMENT BSII 

CUMMINS PART NO. 3924962

OEM REF. 278603999927

DESCRIPTION TIMING DOOR (SIDE) BOLT  (M8 X 1.5 X 16) 

SEGMENT COMMON 

CUMMINS PART NO. 3900630

OEM REF. 278613998001

DESCRIPTION MULTI PURPOSE BOLT (M8 X 1.25 X 20) 

SEGMENT COMMON 

CUMMINS PART NO. 3900632

OEM REF. 278607999906

DESCRIPTION LUBE OIL FILTER HEAD BOLT  (M8 X 1.25 X 35) 

SEGMENT COMMON 

CUMMINS PART NO. 3913366

OEM REF. 278620999909

DESCRIPTION FUEL PUMP/ THERMOSTAT HSG BOLT (M8 X 1.25 X 90) 

SEGMENT BSII 



Cummins on-highway engine parts

61

CUMMINS PART NO. 3900633

OEM REF. 278603999926

DESCRIPTION TIMING CASE BOLT (M8 X 1.25 X 50) 

SEGMENT COMMON 

CUMMINS PART NO. 3920344

OEM REF. 278601999964

DESCRIPTION VALVE COVER BOLT (M8 X 1.25-6g X 21) 

SEGMENT BSII 

CUMMINS PART NO. 5273613

OEM REF. 278609998001

DESCRIPTION MULTI PURPOSE BOLT (M8 X 1.25g X 85) 

SEGMENT COMMON 

CUMMINS PART NO. 3919995

OEM REF. 278603998006

DESCRIPTION MULTI PURPOSE BOLT (M8 X 1.25g X 90) 

SEGMENT BSIII 

CUMMINS PART NO. 3925883

OEM REF. 220001143719

DESCRIPTION TIMING CASE COVER BOLT (M8 X 1.25 X 16) 

SEGMENT BSIII 

CUMMINS PART NO. 3093775

OEM REF. 570115998001

DESCRIPTION TIMING CASE COVER BOLT  (M8 X 1.25 X 20) 

SEGMENT ISBE 

CUMMINS PART NO. 3901445

OEM REF. 278607998003

DESCRIPTION TIMING COVER RELATED BOLT (M8 X 1.25 X 45) 

SEGMENT ISBE 

CUMMINS PART NO. 3902114

OEM REF. 278607999983

DESCRIPTION FAN SUPPORT BOLT (M8 X 1.25 X 30) 

SEGMENT COMMON 



Cummins on-highway engine parts

62

CUMMINS PART NO. 3918109

OEM REF. 278609999901

DESCRIPTION M.FOLD COVER/ FUEL FILTER BOLT  (M8 X 1.25 X 25) 

SEGMENT COMMON 

CUMMINS PART NO. 5289386

OEM REF. 278605998001

DESCRIPTION VALVE COVER BOLT (M8 X 1.25-6g X 21) 

SEGMENT BSIII 

CUMMINS PART NO. 3964817

OEM REF. 570101998005

DESCRIPTION PISTON COOLING NOZZLE BANJO BOLT (1.13x0.5x0.5) 

SEGMENT ISBE 

CUMMINS PART NO. 3278448

OEM REF. 278607999994

DESCRIPTION AIR COMPRESSOR BOLT (M10 X 1.5 X 25) 

SEGMENT COMMON 

FILTERS

CUMMINS PART NO. AX1014875

OEM REF. 5005194

DESCRIPTION AF SETTATA 2518 

SEGMENT TATA 

CUMMINS PART NO. AX1013601

OEM REF. 8200068

DESCRIPTION AF SET FOR 2515 to 4018 TC EX (10") 

SEGMENT TATA 

CUMMINS PART NO. AX1013602

OEM REF. 8200069

DESCRIPTION AF SET FOR 1612 to 3118 TC  (9") 

SEGMENT TATA 



Cummins on-highway engine parts

63

CUMMINS PART NO. AX1014555

OEM REF. 5005041

DESCRIPTION TC KIT-SET OF 3 FOR BS III FF5052 + FS1275 + LF9028 

SEGMENT TATA 

CUMMINS PART NO. AX1013815

OEM REF. 8261074

DESCRIPTION TC KIT-SET OF 3 FOR BS II  FF5052 + FS1275 + LF3959 

SEGMENT TATA 

CUMMINS PART NO. AX1014554

OEM REF. 5005042

DESCRIPTION TC KIT-SET OF 2 FOR BS III  FS19657 + LF9028 

SEGMENT TATA 

CUMMINS PART NO. AX1013816

OEM REF. 8261513

DESCRIPTION TC KIT-SET OF 2 FOR BS II FS1275 + LF3959 

SEGMENT TATA 

CUMMINS PART NO. AX1015352

OEM REF. 8260094

DESCRIPTION
FF SET FOR 1210/1612 OLD-1.1 L (FF5514 (Paper) + FF5515 
(Paper) 

SEGMENT TATA 

CUMMINS PART NO. AX1007832

OEM REF. 8260270

DESCRIPTION
FF SET FOR 1210/1612 OLD-1.1 L FF5525 (Mesh) + FF5526 
(Paper) 

SEGMENT TATA 

CUMMINS PART NO. A041R273

OEM REF. AF26485

DESCRIPTION 2518TC BS III & IV-1300 SERIES &AL U TRAUK-PRIMARY 

SEGMENT TATAAL 

CUMMINS PART NO. A041R279

OEM REF. AF26125

DESCRIPTION 2518TC BS III & IV-1300 SERIES &AL U TRAUK-SAFETY 

SEGMENT TATAAL 



Cummins on-highway engine parts

64

CUMMINS PART NO. AX1006149

OEM REF. AF04669

DESCRIPTION 2515 to 4018 TC EX SERIES PRIMARY (10") 

SEGMENT TATA EICHER 

CUMMINS PART NO. AX1012826

OEM REF. AF04670

DESCRIPTION 2515 to 4018 TC EX SERIES SAFETY (10") 

SEGMENT TATA EICHER 

CUMMINS PART NO. AX1014503

OEM REF. AF26027

DESCRIPTION 2523 HYVA-PRIMARY

SEGMENT TATAAL 

CUMMINS PART NO. AX1014504

OEM REF. AF26028

DESCRIPTION 2523 HYVA-SAFETY 

SEGMENT TATAAL 

CUMMINS PART NO. A041R283

OEM REF. AF26676

DESCRIPTION PRIMA 3128ISBE/3138 LPT 1600 SERIES-PRIMARY 

SEGMENT TATA 

CUMMINS PART NO. A041R281

OEM REF. AF26339

DESCRIPTION PRIMA 3128ISBE/3138 LPT 1600 SERIES-SAFETY 

SEGMENT TATA 

CUMMINS PART NO. 5403508

OEM REF. FF5551

DESCRIPTION 2515 TO 4018-B5.9 ISBE BS IV 

SEGMENT TATA 

CUMMINS PART NO. 5332229

OEM REF. FF5544

DESCRIPTION 2515 to 4018 TC EX SERIES  BS III & IV 

SEGMENT TATA 



Cummins on-highway engine parts

65

CUMMINS PART NO. 5317717

OEM REF. FF5540

DESCRIPTION 2515 to 4018 TC SERIES BS IV 

SEGMENT TATA 

CUMMINS PART NO. 3931063

OEM REF. FF5052

DESCRIPTION 1612 to 4018ALl TC BS II & III 

SEGMENT TATA 

CUMMINS PART NO. 4080720

OEM REF. FF5479

DESCRIPTION FUEL STRAINER FOR TC BS II & III (SMALL-SMALL) 

SEGMENT TATA 

CUMMINS PART NO. 3931868

OEM REF. FF5522

DESCRIPTION FUEL STRAINER FOR TC BS II & III (SMALL-BIG) 

SEGMENT TATA 

CUMMINS PART NO. AX1014506

OEM REF. FF5485

DESCRIPTION PRIMA 3128ISBE/3138 LPT 

SEGMENT TATA 

CUMMINS PART NO. AX1014155

OEM REF. FS19662

DESCRIPTION 1612 TO 4018ALL TC BS III & IV (WITH AUTO DRAIN VALVE) 

SEGMENT TATA 

CUMMINS PART NO. AX1014083

OEM REF. 5000549

DESCRIPTION 1612 TO 4018ALL TC BS III & IV (WITH OUT AUTO DRAIN VALVE) 

SEGMENT TATA 

CUMMINS PART NO. AX1014501 

OEM REF. FS19660

DESCRIPTION 1612 TO 4018ALL TC BS III & IV (WITH OUT AUTO DRAIN VALVE) 

SEGMENT TATA 



Cummins on-highway engine parts

66

CUMMINS PART NO. AX1014502

OEM REF. 8050134

DESCRIPTION
1612 TO 3118ALL 697 BS III & IV (WITH OUT AUTO DRAIN 
VALVE) 

SEGMENT TATA 

CUMMINS PART NO. AX1015337

OEM REF. FS20117

DESCRIPTION ISBE 5.9 BS IV 

SEGMENT TATA 

CUMMINS PART NO. AX1006948

OEM REF. FS1003

DESCRIPTION 3718, 4923 BS IV 

SEGMENT TATAAL 

CUMMINS PART NO. 3973233

OEM REF. FS19732

DESCRIPTION PRIMA 3128ISBE/3138 LPT 

SEGMENT TATA 

CUMMINS PART NO. 5293068

OEM REF. FS19657V

DESCRIPTION 3118 TC BS III (WITH DRAIN VALVE) 

SEGMENT TATA 

CUMMINS PART NO. 4093733

OEM REF. FS1275

DESCRIPTION 1612 TO 4018ALL TC BS II & III-SMALL HOLE 

SEGMENT TATA 

CUMMINS PART NO. 4989588

OEM REF. FS19645

DESCRIPTION CUMMINS B SERIES-SMALL HOL 

SEGMENT TATA 

CUMMINS PART NO. AX1014507

OEM REF. FS19644V

DESCRIPTION FS19644 HEAD ASSY 697 BS II & III 

SEGMENT TATA 



Cummins on-highway engine parts

67

CUMMINS PART NO. 0149-2952

OEM REF. FS19641

DESCRIPTION 1612-697 BS I & II 

SEGMENT TATA 

CUMMINS PART NO. 4931691

OEM REF. AS2474

DESCRIPTION DEF FILTRE CUMMINSISBE ENGINE 

SEGMENT TATA 

CUMMINS PART NO. 5346895

OEM REF. LF16306

DESCRIPTION 1612 to 4018ALl TC BS IV 

SEGMENT TATA 

CUMMINS PART NO. 5285612

OEM REF. LF9028

DESCRIPTION 1612 TO 4018ALL TC BS II & III VENTURI COMBO 

SEGMENT TATA 

CUMMINS PART NO. 3937743

OEM REF. 6000242  (LF3959) 

DESCRIPTION 1612 to 4018ALl TC BS II & III 

SEGMENT TATA 

CUMMINS PART NO. 3401544

OEM REF. LF9009

DESCRIPTION CUMMINS C-SERIES BS IV 

SEGMENT TATA 

CUMMINS PART NO. AX1013805

OEM REF. LF16060

DESCRIPTION 1612 to 3118ALl 697 BS II & III 

SEGMENT TATA 



Cummins on-highway engine parts

68

CUMMINS PART NO. 4315239

FG NO. AF26483

AL-APPLICATION BOSS-1100 SERIES-PRIMARY 

SEGMENT ALTATA 

CUMMINS PART NO. 4315238

FG NO. AF25963

AL-APPLICATION BOSS-1100 SERIES-SAFETY 

SEGMENT ALTATA 

CUMMINS PART NO. 2890655

FG NO. AF26481

AL-APPLICATION GURU-1000 SERIES-PRIMARY 

SEGMENT AL 

CUMMINS PART NO. 2890656

FG NO. AF26121

AL-APPLICATION GURU-1000 SERIES-SAFETY 

SEGMENT AL 

CUMMINS PART NO. AX1014882

FG NO. FF5532

AL-APPLICATION NEPTUNE ENGINE 

SEGMENT AL 

CUMMINS PART NO. AX1014508

FG NO. FS19636

AL-APPLICATION FWS ForALl BS-II & III 

SEGMENT AL 

CUMMINS PART NO. AX1014510

FG NO. LF16238

AL-APPLICATION U-TRUCK H SERIES ENGINE 

SEGMENT AL 

AL-APPLICATION



Cummins on-highway engine parts

69

CUMMINS PART NO. AX1007830

FG NO. LF16057

AL-APPLICATION HINO BS I & II-SMALL 

SEGMENT AL 

CUMMINS PART NO. 4104821

FG NO. WF2152

AL-APPLICATION WATER FILTER-HINO BS III 

SEGMENT AL 

AMW- MAN-APPLICATION

CUMMINS PART NO. AX1014151

FG NO. AF26090

AMW- MAN- 
APPLICATION 

AMW-2518 BS III-PRIMARY 

SEGMENT AMW 

CUMMINS PART NO. AX1014152

FG NO. AF26089

AMW- MAN- 
APPLICATION 

AMW-2518 BS III-SAFETY 

SEGMENT AMW 

CUMMINS PART NO. AX1014873

FG NO. AF26084

AMW- MAN- 
APPLICATION 

MINING TIPPER – 280HP-PRIMARY 

SEGMENT MAN 

CUMMINS PART NO. AX1014872

FG NO. AF26083

AMW- MAN- 
APPLICATION 

MINING TIPPER-280HP-SAFETY

SEGMENT MAN 



Cummins on-highway engine parts

70

CUMMINS PART NO. AX1015356

FG NO. 5005191

TATA LCV- 
APPLICATION 

407 EX TURBO-AF26058 + AF26059 

SEGMENT 407

CUMMINS PART NO. AX1014866

FG NO. 5005190

TATA LCV- 
APPLICATION 

407 OLD-AF4058 + AF1842 

SEGMENT 407 EICHER

CUMMINS PART NO. 0122-0965

FG NO. LF16056

TATA LCV- 
APPLICATION 

407 SFC TURBO/497 BS III 

SEGMENT 407

CUMMINS PART NO. AX1015351

FG NO. LF16059
TATA LCV- 
APPLICATION 

407/709/1109 BS II 

SEGMENT 407

TATA LCV-APPLICATION

EICHER-APPLICATION

CUMMINS PART NO. AX1014867

FG NO. 5010377

EICHER- 
APPLICATION 

E2 Plus-5003795+5003796 

SEGMENT EICHER 



Cummins on-highway engine parts

71

CUMMINS PART NO. AX1014509

FG NO. FF5539

EICHER- 
APPLICATION 

HD LEGACYBSIII 

SEGMENT EICHER 

CUMMINS PART NO. 4962810

FG NO. FS19634

EICHER- 
APPLICATION 

HD LEGACYBSIII New-with Drain Valve 

SEGMENT EICHER 

CUMMINS PART NO. AX1013273

FG NO. LF9667

EICHER- 
APPLICATION 

PRO 3000 SERIES-E494 BS IV 

SEGMENT EICHER 

CUMMINS PART NO. AX1014863

FG NO. LF16069

EICHER- 
APPLICATION 

10.95, 11.10-CATRIDGE 

SEGMENT EICHER 

CUMMINS PART NO. AX1014868

FG NO. LF16082

EICHER- 
APPLICATION 

JUMBO, GALAXY-CATRIDGE 

SEGMENT EICHER 

CUMMINS PART NO. AX1014869

FG NO. LF16090

EICHER- 
APPLICATION 

JUMBO, GALAXY-Bypass filter 

SEGMENT EICHER 



Cummins on-highway engine parts

72

CUMMINS PART NO. AX1014860

FG NO. LF16235

APPLICATION DOST OIL FILTER 

SEGMENT AL 

CUMMINS PART NO. AX1014862

FG NO. AF16092

APPLICATION DOST AIR FILTER 

SEGMENT AL 

CUMMINS PART NO. AX1014897

FG NO. AH08800

APPLICATION DOST AIR CLEANER ASSY 

SEGMENT AL 

CUMMINS PART NO. AX1014879

FG NO. LF16064

APPLICATION MAHINDRA DI 

SEGMENT M&M 

CUMMINS PART NO. AX1014889

FG NO. 8260533

APPLICATION TRACTOR MAHINDRA DI KIT-(LF16064 + FF5512 + FF5513) 

SEGMENT M&M 

CUMMINS PART NO. AX1014899

FG NO. 8356152

APPLICATION AMW 2518 of Housing AH19470 

SEGMENT AMW 

CUMMINS PART NO. AX1014901

FG NO. AH19412

APPLICATION TATA 1613 TURBOAL 

SEGMENT TATA 

APPLICATION



Cummins on-highway engine parts

73

CUMMINS PART NO. 0122-0922

FG NO. LF16087

APPLICATION CUMMNIS HYDRALIC 

SEGMENT CUMMINS 

CUMMINS PART NO. 3329289

FG NO. FS1000

APPLICATION CUMMINS 4BT 

SEGMENT CUMMINS 

CUMMINS PART NO. AX1013804

FG NO. FS19644

APPLICATION TATA 1612 TO 3118ALL 697 BS III & IV (W/O DRAIN VALVE) 

SEGMENT TATA 

CUMMINS PART NO. 3978040

FG NO. FF5421

APPLICATION TATAISBE ENGINE 

SEGMENT TATA 

CUMMINS PART NO. 2868463

FG NO. AF26076

APPLICATION CUMMINS 4BT/6BT 210 HYNDAI EXEC 

SEGMENT CUMMINS 

CUMMINS PART NO. 3167215

OEM REF. DCA012 L

DESCRIPTION INHIBITOR, CORROSION 1 LITERS 

SEGMENT RED 

CUMMINS PART NO. 3167216

OEM REF. DCA013 L

DESCRIPTION INHIBITOR, CORROSION 2 LITERS 

SEGMENT RED 

COOLANTS & RADIWASH



Cummins on-highway engine parts

74

CUMMINS PART NO. 3167217

OEM REF. DCA014 L

DESCRIPTION INHIBITOR, CORROSION 5 LITERS 

SEGMENT RED 

CUMMINS PART NO. 3167218

OEM REF. DCA015 L

DESCRIPTION INHIBITOR, CORROSION 10 LITERS 

SEGMENT RED 

CUMMINS PART NO. AX1013774

OEM REF. CC8952

DESCRIPTION COOLANT, CONCENTRATE 1 LITERS 

SEGMENT GREEN 

CUMMINS PART NO. AX1013775

OEM REF. CC8953

DESCRIPTION COOLANT, CONCENTRATE 3 LITERS 

SEGMENT GREEN 

CUMMINS PART NO. AX1013776

OEM REF. CC8954

DESCRIPTION COOLANT, CONCENTRATE 5 LITERS 

SEGMENT GREEN 

CUMMINS PART NO. 4926654

OEM REF. CC2505

DESCRIPTION INHIBITOR, CORROSION 10 LITERS 

SEGMENT BLUE 

CUMMINS PART NO. 3816981

OEM REF. CC2774

DESCRIPTION INHIBITOR, CORROSION 205 LITERS 

SEGMENT BLUE 

CUMMINS PART NO. AX1013358

OEM REF. 8510046

DESCRIPTION RADIWASH 1 LITERS 

SEGMENT 1 LIT 



Cummins on-highway engine parts

75

CUMMINS PART NO. AX1013359

OEM REF. 8510047

DESCRIPTION RADIWASH 3 LITERS 

SEGMENT 3 LIT 

CUMMINS PART NO. AX1013508

OEM REF. 8510064

DESCRIPTION RADIWASH 5 LITERS 

SEGMENT 5 LIT 

CUMMINS PART NO. 5476341

OEM REF.

DESCRIPTION HARNESS, ETR CNT MDL WRG

SEGMENT BSIV

CUMMINS PART NO. 5491744

OEM REF.

DESCRIPTION SENSOR POSITION

SEGMENT BSIV

CUMMINS PART NO. 5339802

OEM REF.

DESCRIPTION TUBE FUEL SUPPLY

SEGMENT BSIV 

CUMMINS PART NO. 5258005

OEM REF.

DESCRIPTION ALTERNATOR

SEGMENT

CUMMINS PART NO. 4093888

OEM REF.

DESCRIPTION MOTOR, STARTING

SEGMENT



Cummins on-highway engine parts

76

CUMMINS PART NO. 5319034

OEM REF.

DESCRIPTION COMPRESSOR, AIR

SEGMENT

CUMMINS PART NO. 5303152

OEM REF.

DESCRIPTION COVER, VALVE

SEGMENT ISBe 5.9

CUMMINS PART NO. 5303729

OEM REF.

DESCRIPTION VALVE, INTAKE

SEGMENT BSIV

CUMMINS PART NO. 5301009

OEM REF.

DESCRIPTION CRANKSHAFT, ENGINE

SEGMENT ISBe 6.7

CUMMINS PART NO. 5444156

OEM REF.

DESCRIPTION MANIFOLD, EXHAUST

SEGMENT ISBe 5.9

CUMMINS PART NO. 5309255

OEM REF.

DESCRIPTION GASKET, VALVE COVER

SEGMENT ISBe 6.7

CUMMINS PART NO. 5529516

OEM REF.

DESCRIPTION GASKET, CYLINDER HEAD

SEGMENT BSIV

CUMMINS PART NO. AX1014556

OEM REF.

DESCRIPTION LONG BLOCK 6CTA8.3-C

SEGMENT 6CTA8.3



Cummins on-highway engine parts

77

CUMMINS PART NO. 5339793

OEM REF.

DESCRIPTION TUBE, FUEL DRAIN

SEGMENT BSIV

CUMMINS PART NO. AX1015337

OEM REF.

DESCRIPTION FUEL WATER SEPARATOR CARTRIDGE

SEGMENT

CUMMINS PART NO. 5307344

OEM REF. COUPLING, ELBOW HOSE

DESCRIPTION COUPLING, ELBOW HOSE

SEGMENT BSIV

CUMMINS PART NO. 4926690

OEM REF.

DESCRIPTION PLUG, THREADED

SEGMENT

CUMMINS PART NO. 5263220

OEM REF.

DESCRIPTION ALTERNATOR

SEGMENT

CUMMINS PART NO. 3357102

OEM REF.

DESCRIPTION SUPPORT, AIR COMPRESSOR

SEGMENT COMMON

CUMMINS PART NO. 5348867

OEM REF.

DESCRIPTION MODULE, ELECTRONIC CONTROL

SEGMENT ISBe 5.9

CUMMINS PART NO. 5365653

OEM REF.

DESCRIPTION DAMPER, VISCOUS VIBRATION

SEGMENT BSIV



78

Notes



79

Cummins on-highway engine partsNotes



Ways to Connect

CARE.CUMMINS.COM

Access our extensive knowledge 
database, download data sheets, 
perform an advanced search of our 
website and use the contact form to 
email us.

CUMMINS CARE app

This app powers you with 
functionalities like create/track 
service request, view service 
history against your registered 
Cummins products.

Cummins India,

Tower A & B, Survey No. 21, 
Baner Balewadi Road, Pune,
Maharashtra-411045, India.

care.india@cummins.com
1-800-210-2525
www.cumminsindia.com

Facebook.com/cumminsindiaofficial

YouTube.com/cumminsindiaofficial

Linkedin: https://www.linkedin.com/
company/cummins-india/

Instagram: https://www.instagram.
com/cumminsindiaofficial/

Toll free no. 
1-800-210-2525

To speak directly with the 
Cummins Care team.


